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QUESTION 1

Which statement about label-based access control (LBAC) is TRUE?

A. LBAC protection can be applied to a nickname

B. LBAC cannot be used to restrict access to a staging table

C. LBAC cannot be used to restrict access to data of columns and rows in the same table

D. LBAC protection for columns requires a table to contain a column that has a DB2SECURITYLABEL data type

Correct Answer: D

QUESTION 2

When the DB2_WORKLOAD registry variable is assigned the value ANALYTICS and then a new database is created,
what happens? (Choose two.)

A. The PAGESIZE database configuration parameter is set to 32K.

B. The AUTO_REORG database configurationparameter is set to NO.

C. The DFT_EXTENT_SZ database configuration parameter is set to 8.

D. The DFT_TABLE_ORG database configuration parameter is set to COLUMN.

E. The INTRA_PARALLEL database manager configuration parameter is set to NO.

Correct Answer: DE

QUESTION 3

A table named MYTABLE contains an XML column and an XML storage object dictionary already exists. What is the
effect of enabling compression and then running the command REORG TABLE mytable KEEPDICTIONARY?

A. All data, both new and existing, will becompressed.
B. Only new or updated data for XML columns will be compressed.
C. New and existing XML columns will be compressed but other columns remain unchanged.

D. Existing data will remain uncompressed because the RESETDICTIONARY option of the REORG command was not
used.

Correct Answer: D

QUESTION 4
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If the following SQL statements are executed:

CREATE TABLE department
(deptno CHAR(3) NOT NULL,
location CHAR{16))
ORGANIZE BY ROW;

ALTER TABLE department
ADD COMSTRAINT pk_dept PRIMARY KEY {deptno) NOT ENFORCED;

INSERT INTO depariment YALUES ( "AZY, 'New York');
INSERT INTC depariment WVALUES ( 'B26", 'Chicaga');

INSERT INTO depariment VALUES ( "A25', 'Dallas');
INSERT INTO depariment WALUES ({ "A56, 'San Jose');

How many rows will be added to the DEPARTMENT table?
Al
B.2
C.3
D.4

Correct Answer: D

QUESTION 5

Which data types are only valid when DB2_COMPATIBILITY_VECTOR=0ORA? (Choose two.)
A. XML

B. REAL

C. NUMBER

D. VRCHAR2

E. VARBINARY

Correct Answer: CE
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